
4x－3y＝－5

－15x＋2y＝－9

－5x＋9y＝3
⑥⑤

－4x＋18y＝3
⑦

14x－6y＝－14
⑧

－3x＋13y＝17

3x－14y＝－1

－11x－9y＝11

12x－3y＝3

－5x＋2y＝1
①

4x－6y＝－4

6x＋7y＝2
②

7x＋2y＝－16

6x＋5y＝－17
③

－4x－5y＝6
④

3x＋11y＝10
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開始日 終了日

加減法－基本問題①

連立方程式ＮＯ２Ｂ

…①

…②

…①

…②

…①

…②

…①

…②

…①

…②

…①

…②

…①

…②

…①

…②

①×２＋②×３

24x－ 6y ＝ 6

－15x ＋ 6y ＝ 3＋

9x ＝ 9

＝ 1x

＝ 1x を②に代入すると

－5x＋ ＝ 12y

－5×1＋ ＝ 12y

－5＋ ＝ 12y

＝ 62y

＝ 3y

＝ 1x y ＝ 3，

①×３－②×２

12x－18y ＝－12

12x＋14y ＝ 4－

－32y ＝－16

y ＝ 2
1

y ＝ 2
1
を①に代入すると

4x－ 6y＝－4

4x－ 6× ＝－42
1

4x－ 3 ＝－4

4x ＝－1

＝x 4
1

－

＝x y ＝，4
1

－ 2
1

①×５－②×２

35x＋10y ＝－80

12x＋10y ＝－34－

23x ＝－46

x＝－2

x＝－2 を①に代入すると

7x＋ 2y＝－16

7×－2＋ 2y＝－16

－14＋ 2y＝－16

2y＝－2

y＝－1

＝－2x y ＝ －1，

①×３＋②×４

－12x － 15y ＝ 18

12x ＋ 44y ＝ 40＋

29y ＝ 58

y＝ 2

y＝ 2を①に代入すると

－4x－ ＝ 65y

－4x－ ＝ 65×2

－4x－ ＝ 610

－4x ＝ 16

x ＝－4

＝－4x y ＝ 2，

①×２＋②×３

8x－ 6y＝－10

－45x ＋ 6y＝－27＋

－37x ＝－37

x ＝ 1

x＝ 1を①に代入すると

4x－ 3y＝－5

4×1－ 3y＝－5

4－ 3y＝－5

－ 3y＝－9

y＝ 3

＝ 1x y ＝ 3，

①×３－②×５

－15x ＋ 27y ＝ 9

－15x ＋ 65y ＝ 85－

－38y ＝－76

y ＝ 2

y ＝ 2 を①に代入すると

－5x ＋ ＝ 39y

－5x ＋ ＝ 39×2

－5x ＋ ＝ 318

－5x＝－15

x＝ 3

＝ 3x y ＝ 2，

①×４－②×３

12x － 56y ＝－4

－12x ＋ 54y ＝ 9＋

－ 2y ＝ 5

y ＝ 2
5

－

y ＝ 2
5

－ を①に代入すると

3x － 14y ＝－1

3x－ 14× ＝－12
5

－

3x＋ 35 ＝－1

3x ＝－36

x ＝－12

y ＝ 2
5

－＝－12x ，

①×３－②×２

42x － 18y ＝－42

－22x － 18y ＝ 22－

64x ＝－64

x ＝－1

x ＝－1を①に代入すると

14x － 6y ＝－14

14×－1－ 6y ＝－14

－14 － 6y ＝－14

－14 － 6y ＝－14

－ 6y ＝ 0

y ＝ 0

＝－1x y ＝ 0，

y )( y )(x )(

y )( x )( x )( y )(

x )(


